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• Isobar pico:

/star/u/suyuann/pwg/Isobar.Blind/isobar_ana/picoRaw_phy_20220

807.list
root://xrdstar.rcf.bnl.gov:1095//home/starlib/home/starreco/reco/production_isobar_2018/ReversedFullField/P20ic/2018/0

83/19083049/st_physics_19083049_raw_0000005.picoDst.root, an example of the pico

~0.36M pico in list, run ~1/2, many jobs report error,

now ~1,600M event(MB) compared to ~100M auau(200GeV)

• QA code:

based on /star/u/suyuann/pwg/Isobar.Blind/isobar_QA/isobar_QA/

in /star/u/dsli/Isobar_hypernuclei/Isobar_QA/



Cuts:

Trigger: 600031

Badrun: 19130085,19131009,19131010,19131012,19132063,19133009,19133010,19133012,19133013,19133014,

19133018,19134010,19134011,19135011,19135013,19135014,19136016,19137003,19137022,19137047,19137050,
19137051,19137052,19137053,19137056,19137057,19138008,19138009,19138014,19139022,19139023,19139024,
19139026,19139027,19139028,19139032,19139033,19139034,19139037,19140009,19140014,19141008,19142005,
19142048,19143008,19143009,19143010,19143011,19143012,19143013,19143014,19143015,19143016,19143017,
19146016,19147007,19147008,19147009,19147010,19147014,19147015,19147016,19156002,19156032,19156044,
19156045,19156046,19157013,19158003,19158007,19158009,19158010,19158011,19158013,19158014,19158015,
19158017,19158018,19158019,19160018,19162002,19162005,19165015,19165020,19165021,19167042 

86 badruns in total

Good event:

-35 < Vz < 25

|Vx| > 1.e-5

|Vy| > 1.e-5

|Vz-VpdVz| <= 1000

|Vr| < 2.0

Good track:

nHitsFit >= 15

nHitsDedx >= 15

0.52<nHitsFit/nHitsMax<1.02

|eta| < 1.5

pt > 0.2

Dca < 200, Dca<3 for run by run QA

Check badrun list:

<Y>±5*σ

<Y> by TProfile::GetMean()

σ by TProfile::GetStdDev()



run by run QA



run by run QA



run by run QA



Event QA



Track QA 

With 0.52<nHitsFit/nHitsMax<1.02 cut



Track QA

Without 0.52<nHitsFit/nHitsMax<1.02 cut



Pid



Pid

After event/track cut:

hdEdx->Fill(mom.Mag() / trk->charge() * 1.0, trk->dEdx());

if(tofmatch){
…
if(fabs(mom.Mag() / trk->charge() * 1.0)>1)
hdedxvsm2->Fill(trk->dEdx(), mom.Mag2() * (1. / beta / beta - 1.));
…
}

~2000 He3 only by 1.4<m2<2.5



Pid

After event/track cut:

if(tofmatch){
…
hnsigma_pi->Fill(mom.Mag(),trk->nSigmaPion());
…
}

if(fabs(1.0/beta - sqrt(pow(M_pion,2)+pow(mom.Mag(),2))*1.0/mom.Mag()) < 0.01 && mom.Mag()>0.2)
{
h_nSigmaPion_P_01->Fill(mom.Mag(),trk->nSigmaPion());

} 



Pid



Pid

By dca && z cut

~1600 (anti-)He3



Pid

No pt cut---~1600 (anti-)He3

Pt>2 --------~100   (anti-)He3

if(tofmatch) 

if (trk->gDCA(mVx, mVy, mVz) < 3. && mom.Perp() > 2.0 && trk-
>dEdxPull(2.80839, 1, 2) * trk->dEdxError() > -0.1 && trk-
>dEdxPull(2.80839, 1, 2) * trk->dEdxError() < 0.3&& mom.Mag2() * (1. 
/ beta / beta - 1.)<2.5&& mom.Mag2() * (1. / beta / beta - 1.)>1.4) 
{

if (trk->charge() > 0.)
hdca_he3_z1->Fill(trk->gDCA(mVx, mVy, mVz));

else
hdca_ahe3_z1->Fill(trk->gDCA(mVx, mVy, mVz));

}

After event/track cut:



Pid

No pt cut---~1600 (anti-)He3

Pt>2 --------~100   (anti-)He3

Au+Au

~100M events

s

Pt>2 && -0.1<z<0.3 && dca<1  ~8000 (anti-) He3

Isobar 

~1600M events


